Subject Name: Switchgear and Protection

CH: 1 Elements of Protection

Switchgear consists of switching and protecting devices like

A. | Fuse B. | Circuit breakers

C. | Relays D. | All of above

2 l29{1242 oyl 2fl2[a 244 ni2sZlol dardlud oidg sia 9.
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The apparatus used for switching, controlling and protecting the electrical circuits

and equipment is known as

A. | Switch gear

Transformer

C. | Induction motor

Generator
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Which of the following is the essential feature of switchgear?

A. | Reliability B. | Quick operation
C. | Certain discrimination D. | All of above
<AlRAmigl 52 2l 2119945 §laz 97

A | leiwioidlZ) B | ¢l wliuza

C. | U2 dglsldaq GURAL dHIH
Which are the faults occur in power system?

A. | Symmetrical B. | Unsymmetrical
C. | BothAandB D. | None of above




YLAR [A22HHL AL 5162 541 531 697

A | BHZlsa B. | t-luilsa

C.| 1242 06id D. | Guanidl 519 dl

The fault which gives rise to symmetrical fault currents in which equal faults

currents with 120 degree displacement occurs is called

A. | Symmetrical B. | Unsymmetrical

C.| BothAandB D. | None of above

slez s oy [AHZlsa 5162 5224 AL 20U sy 120 (29l Baauiez U1a UHIA sle2 532 4G Die

EREIER
A, | RHZlsa B. | vt-uilsa
C.| 1242 0id D. | Guanidl 519 dl

The fault which give rise to unsymmetrical currents in which unequal line currents

with unequal displacement occurs is called

A. | Symmetrical B. | Unsymmetrical

C. | Both Aand B D. | None of above

51e2 5 oy weA[AHZlsa 5le2 5324 qBIRL U syl 120 (29l [2iduiez wa siuuld slee 532 4
R SGAIA.

A | RRZlse B. | viuZlsa

C. | A»dBoid D. | GuzHidl 519 ¢l

What is the difference between fault and abnormality?

A. | Abnormality is cause and fault is B. | Both are cause
result.

C. | Fault is cause and abnormality is D. | Both are result.
result.

5162 v iotAHUAZ] 923, 9 d5lad 97
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C. | 5192 51200 &9 viel BiotAlHI@Z] WROUH 9. | D | odeel UREUH 9.

8. | An imperfection in the electrical circuit due to which current is deflected from the
intended path is known as
A. | Fault B. | Abnormal condition
C. | Normal condition D. | None

¢. | daszlsa w5zl 2udldl, syl 5120 532 SRe9d MLl g2 2D M 9 d a<ls
VUL, 69,
A | sle2 B. | zotding sélaq
C. | AMd sélaq D. | Guanidl 519 dl

9. | In which condition power system equipment or lines carry normal voltages and
currents which results in a safer operation of the system?
A. | Faulty condition B. | Abnormal condition
C. | Normal condition D. | None

¢ | 59 Ralani wiaz Rz Alsedl 21290 Al UM U2y 2 5324 dged 52 69 o<l wlad
(224 A SIHAIIHE wREH 97
A. | 52l sélaq B. | zoting sélaq
C. | dind sélaq D. | Guanidl 519 Al

10. | Due to some reasons, the voltage and current values of any equipment deviates
from their nominal ranges is known as
A. | Fault B. | Abnormal condition
C. | Normal condition D. | None

10. | 5245 5100 dlH, sidun Ssdluneadl diczsy v 532 4@y dul diRda 2-opell (dalad 9 d
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C. | ¥4 sélauq D. | GuzHidl 516 4dl




11.

Which of the following are the causes of fault in power system?

A. | ageing of the insulation B. | aircraft colliding with the line
C. | tree falling across the line D. | All of above

14, | dlaamizl s uaz [RezHul siez-dl szl 9?
A. | DA via B. | Al 12 [Auid 242819

C. | 98 ald vz ud
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12.

Which of the following are the effects of fault in power system?

A. | Excessive heating B. | Fire
C. | Instability of power system D. | All of above
120 | wiaR [RzzHul siez<l sl dldamidl 59 97
A. | 2ildey oy ag B. | 2ol
C. | WAz [Rzeudl Sdz2ndlzl BYRAL dHIH
13. | Which are the conditions of normal operation of power system?
A. | Supply voltage should be within the | B. | Supply frequency should be within
specified limits the specified limits
C. | BothAand B D. | None
13, | YR (Al dAIAd sliuReddl 224l 59 97
A, | A diezsy U558 dlHlzHi sl B. | dwald slsa-ril 2ulisids dllzHi ¢idl
A, AL,
C. | 1292009 D. | GuzHidl 519 ¢l
14. | Which of the following is the type of back-up protection?
A. | Remote back up B. | Breaker back up
C. | Relay back up D. | All of above
UE. | {laAmigl 21 ols-21u Ui2saddl UsIR 97
A | dHiz ols-v1u B. | G5 6is 21U




C. | A4 ois-uiy, D. | GUz-dl dHIM

15. | What is the primary function of protective system?
A. | To disconnect the faulty part | B. | Not protect the system
without disturbing the rest of the
system
C. | To find the type of fault D. | To find the location of the fault
LU | nizsad Rzzudd uil ssuqd g 97
A. | oSl [z2Hq vidd wgiag [ giedl | B, | Razzud Uizs2 s34 el
Aol 3552 5291 HIZ
C. | slea-l Uslz 2iHalL HI2 D. | sle2 dlsu 2llaal Hi2
16. | Which of the following fault is unsymmetrical fault?
A. | L-L B. | L-G
C. | L-L-G D. | All of above
1o, | dlaamidl 2 slez sqalanzlsq siez 972
A. | L-L B. | L-G
C. | L-L-G D. | All of above
17. | The relay system should disconnect the faulty section as fast as possible. This
sentence shows which of the following property of protective system?
A. | Sensitivity B. | Selectivity
C. | Speed D. | Economy
19. | RA [Mz2H sle2l dsudd w4 dzdl @eudl (325452 529 o, vl A niesued [Mzeul
cAl2damial 59 uuzl odid 972
A. | A<l2ldlZ) B. | dlasldlél
c. | xdls D. | Osllisl
18. | The power system can be divided into which of following protection zones?

A. | Generator protection zone B. | Transformer protection zone




C. | Transmission lines protection zone

All of above

VL | e [Azeud dlRdamizl sa1 wizsud Slaui adadl asi 9?
A | sye222 Ui2sUA Al B. | 2l-45142 Ul2so Bl
C. | 2i-uMaq s nizsu- BURAL dHIH
19. | The part of power system remains unprotected is known as
A. | Protected part B. | Blind spot
C. | Un-blind spot D. | None
e | wigR [Az2HAL ARl 6 24Y920Ad 26 9 4 Axls vAAAIA 9
A, | Uizs2s w2 B. | clses U2
C. | w-0alHs 242 D. | Guz-l Hidl 515 <l
20. | Back up protection is applied when
A. | When primary protection system B. | When primary protection system is
fails under maintenance or repair
C. | BothAand B D. | None
20. | o4z IR 615 1Y UI25UA Q2L S2AHE 209, €9
A. | oA Wl wizsud RizeH (s o | B | ol WAHEL Wi2sad Headed 21291 UR
REYRR)
C. | 12207 D. | Guz-L nidl 51 Al
21. | How many percentages of faults occur in overhead transmission line?
A |75 % B. | 50 %
C.[12% D. 2%
2] D968 21U MU AISAHE 524l 251 5le2U orlAL HOL 97
A |75 % B. | 50 %
C.[12% D. 2%
22. | Which of the following is the fundamental property of protective system?




A. | Economy B. | Reliability

C. | Simplicity D. | All of above
220 | lAamiEl 5O dizsila Rzznedl yasd wivll 97

A. | Osi<iHl B. | <laioildlzl

C. | RawudldlZl D. | BUR<L dHIH
23. | Which of the following detects the abnormal conditions in the electrical circuits?

A. | Relay B. | CT

C. | Circuit breaker D. | All of above
230 | dlAdamiel 24 Sdlszsa ulszudl vindidg séaqdd bl 516 9?2

A |94 B. | CT 2l

C. | uzslz ase D. | GUzel dHIH
24. | Which of the following gives signal to circuit breaker?

A | PT B. |CT

C. | Relay D. | Fuse
2| ladmial 54 w5z eszd Rivdd 200 97

A. | PT 2l B.|CT

c. |4 24
25. | Which of the following fault is symmetrical fault?

A. | L-L-L B. | L-G

C. | L-L-G D. | All of above
2U, | <dlAamidl sal slez ndlse sie 97

A. | L-L-L B. |L-G

C. | L-L-G BGURAl dAHIH

CH: 2 Protective Relays




What is the actuating quantity for the relays?

A. | Magnitude B. | Frequency
C. | Phase angle D. | All of these
(& H12 w2120 541212 9 6972

A. | Ho<dlzae B. | lsdl

C. | & »la Gzl dHIH

Protective relays can be designed to respond to

A. | Impedance, resistance, reactance

B.

Temperature

C. | Voltage and current

D.

All of these
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Time-current characteristics of induction type relay is

A. | Linear type B. | Inverse type
C. | Both D. | None
Sedsolel 219U Ral 219M-532 $3523]2215u £9.

A | dldlaz 219 B. | &-aA 215y

C.| 1242 0id
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Which device sends the information to the circuit breaker to interrupt the circuit in

case of fault?

A. | Switch

Fuse

C. | Circuit breaker itself does this

function

Relay
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An over current relay having a current setting of 150% is connected through a

400/5 CT. The pickup value of current is

A.

25A

7.5A

C.

10 A

5A

150% %2 AZla 42144l 215 vilaR 532 RA 400/5 CT 2A12L sxigiid 9. 522+l Ylsoru dey
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The correct statement about Buchholz relay is

A. | It can only be used with largely B. | Itis installed with largely sized
sized alternators transformers which have no
conservator tank
C. | It can detect incipient faults D. | It should never be used with oil
immersed transformers
oisicza [2a (49 A1 A £,
A. | ddl Guaiol HIZL ARl ez WA | B, | d HIZL ARl 21-u5AA wE 2afud
6% 4% U5 €9 QA 1Y 89 oyell WA serd2r 2es 4]
C. | A wizlMs vl ausl as D. | d 2UHA SH®E 21eu5IHA U AR
GUALIHL ddl 1591 Al

Plug setting multiplier is defined as the ratio of (remove ratio)

A. | Fault current in relay coil x Pick up | B. | Fault current in relay coil / Pick up
current current
C. | Fault current in relay coil x D. | Fault current in relay coil /

Transformer secondary turns

Transformer secondary turns

ol Al2aL Hezlia iz

<AL RLTR AZls ALl 214 €9,




A. | R& siSaui ez 532 x ls vid 532 B. | (et sidami glee 532 / ls 2iu 532
C. | k& sidani 52 532 x zi-udifiz Assdl | D. | RA sidami glez 522 / 21-ugiiz 45l
2<%, e
8. | The basic purpose of a relay is to
A. | Detect the fault B. | Remove the fault
C. | Trip the circuit All of these
8. | RadlHo gq 8.
A. | sle2 dimal-dl B. | 5l¢2 £2 5341l
C. | Uzslzd 2lu s2aul GURel dHIH
9. | The rated burden of the relay can be expressed in
(ke 224 013 Hi ol €.
A. | coulombs B. | ampere
C. | volt D. | VA
9. | Rad 25013 Hi oAl 9.
A. | sa¥o1 B. | wivulaz
C. | ez D. | VA <%
10. | A definite time relay is the amount of current.
A. | Dependent on B. | not dependent on
C. | Directly proportional D. | Inversely proportional
10. | sz 215n [a v siz<l uisn uz
A | 24 © B | zuHLRA <l
C. | AHUHIOML &9 4 UHLBIHI 9
11. | Electromagnetic induction relay can be used for

HAsZIHA[2s Hegsae Rl Gualol

HI2 531 A5 9.

A. | a.c. supply only

d.c. supply only




C. | Both

None

11. | das2iHolzs Hegsae [Ra-l Guaia HI2 52l 512 69
A. | HIa.c. uEld B. | HiaL d.c. Areld
C. | 123207 Buz-L Higl 519 Al
12. | What is TSM?
A. | Time Setting Multiplier B. | Time Sequence Multiplier
C. | True Setting Multiplier D. | True Sequence Multiplier
12. | TSM g 9?
A | 2154 AZloL wedvaz B | 215 lsacy wedlia iz
C. | 2 4zl vedlhanz D. | 2 dlsacu vzl
13. | The minimum current at which relay starts operating is called as
A. | PSM B. | Pick up current
C. | Resetting current D. | TSM
13. | Hldluu 5225 oyl u RA w2 Al U3 5289 A<l SGAHL 209, 9
A. | PSM lsizsiyd B. | ls 2y 532
C. | Azl 532 D. | TSM Zluiusiu
14. | IDMT Relay stands for
A. | Inverse Divide Minimum Time B. | Inverse Define Minimum Time
C. | Inverse Definite Minimum Time Inverse Differentiate Minimum time
14. | IDMT <la dzls odlalA.
A | D9 dads Hldlvu 21541 B. | 944 a1 HldlHu 2164
C. | H9 a1z Hldlnu 2164 e {lsidlziz HldlHn 214
15. | Induction cup relay is operated due to changes in

A. | Voltage

B.

Current




C. |Both1&2

None of the above

15. Hi 52512 51200 S5l sU RA iUz 214 9,
A. | diezsy B. | 5%2
C. | 1292067 D. | Guz-l wigl 515 <l
16. | Which of the following is the advantage of static relay?
A. | Quick response B. | Long life
C. | Quick reset D. | All of above
16. | laamidl s 2225 Ra-l s1uel 97
A | 2eul Lzl B. | dicil alds
c. | el <z D. | BUAL AHIH
17. | Distance relays are generally
A. | Mho relays B. | Reactance relays
C. | Impedance relays D. | All of the above
17 | (322 (24 21412 2ld SlA 89
A. |+l ke B. | doisz-u k&
c. | dwdlset ke GURAL AHIH
18. | When the fault current is 2000 A, for a relay setting of 50% with CT ratio 500/5, the
plug setting multiplier will be
A. |16 B. |12
C. |4 8
18. | o112 50% (& Alza Hiz, CT (2l 500/5 w18, 51e2 522 2000 A i A2 waol |2l
HeZlvlar 1K
A. |16 B. |12
C. |4 8




19.

The torque produced in induction type relay (shaded pole structure) is

A. | Inversely proportional to the current | B. | Inversely proportional to the square

of the current

C. | Proportional to the current D. | Proportional to the square of the
current
19. | Oes504 215U Ra (238 UIA 2259) Hi G 244 215 8.
A. | 522l A2 UHIBML B. | 5%2<ll Adlel 4xd UHIBIHI
C. | 532l AHUHIBMH] D. | 5%2<ll Al HHUHIBIHI
20. | A relay is said to be high speed relay if it operation time is .
4L (Rl UL HHA Sl dl kA 1 2l RA Sl seami »ud €.
A. | 1to 2 cycles B. | 3to 5 cycles
C. | 2to 3 cycles D. | 5to 7 cycles
20. | 5% [2eel BUURAUAAL AHA S dl R4 1 2l RA Glald seami »ud €.
A. | 1102 AHluscd B. | 3t0 5 Alus<
C. | 2to 3 ulusex D. | 5t0o 7 Alas<
21. | Buchholz relay is used to protect against
A. | Inter-turn fault B. | Every internal faults
C. | Rotor faults D. | External faults
21. | oislez [xa ALIH U252 HIZ AUIA 69,
A. | He2r-2d sle2 B. | &35 Ye2qd slezd
C. | 22z slezy D. | vi#eAd sle2u
22. | Relay gets its operating energy from
A. | Transformer B. | Alternator
C.|CT.,P.T. D. | Overhead lines

22.

~ N

(2& Al 2iuzlzo 2149 Higl Hag 9.




A | 21592 B. | veardzz
C.|C.T., P.T. &2, l2l. D. | 24268 Al

23. | Shape of the disc of an induction disc relay is
A. | Circular B. | Spiral
C. | Elliptic D. | All of these
23. | Segsad (325 Radl (325l 2512 €.
A. | 4siaR B. | ¥W=d
C. | dowla G2l dHIH
24. | Time classification of relays includes
A. | Instantaneous relays B. | Definite time lag
C. | Inverse time lag All of these
24. | RA-L 2154 Adilszemi UM &9
A | Oezzdzdluy Ra B. | {lsld-idz 2154 |al
C. | 9z 2154 Qal BURAL dHIH,
25. | Which of the following is the type of electromagnetic induction relay?
A. | Shaded pole type relay B. | Balanced beam type relay
C. | Attracted armature type relay D. | Solenoid type relay
25. | dlamidl 51l Sas2inodles Hessaq el usiz 9?
A | 23 uid 215y ka B. | old-s ofld 219y k4
C. | 2528 2uHAR 215y, 24 D. | dldis 215y 4

CH: 3 Protective Transformers

Peterson coil is actually a:

A. | Reactor

Simple resistors

C. | Transformer with five windings

capacitor




l2zd 51599 vRvR €.

A | Zlwiser B | [Rirue afnzzz

C. | Ui Ad<dloL a1 2145192 uler

In electrical power protection schemes transformer is used.
A | CT B. |PT

C. | Both1 &2 None

DHASZ|5E UIAR UL25o 254 Hi 2Le5IHRAL GUALIL A1 69,

A |CT B. |PT

C. | 122007 D. | Guz-l nigl 519 Al

In potential transformer the numbers of turns in primary winding are

while numbers of turns in secondary winding are

A. | More, less

Less, more

C. | More, more

Less, less

izlcad 204510211 WARZL [Alegomi 2l dva

SIA €9 w1 U538

([Aleso1Mi 28] Hval SiA €9,
A. | a8, 2l B. | 2l 44
C. | Ay, a4 wiggl, 24191

Advantage of grounded neutral is

A. | Persistent arcing grounds are B. | Earth fault are utilized to
eliminated disconnect the fault
C. | Both (a) and (b) D. | None of these
UGS 424l 511EL 9.
A. | Add 2u5hL UG £2 529 B. | 24 slea-l BuAlal slea (32552
5341 A1 59,
C. | 129209 D. | Gu2l uigl 515 Al




Neutral can be grounded by

A. | Resistance grounding B. | Solid grounding
C. | Reactance grounding All of these
24, AL UG 53 UsIA.
A | Aszza G- B. | #idls ws<ila
C. | Awiszu G<la GuURel dHIH
Instrument transformers are used
A. | To isolate the relays B. | To Protect the electrical
equipment
C. | To isolate ammeter and multi- D. | All of these
meters
He2zHe2 21eAsHAAL GuAlaL Hig e,
A | [RaAd 2142 5241 B. | 9dsilsd Osdlumezd nizsz s2ql
C. | widl2z vid Hedl-dl2zd viauidz D | GUadl dHIM
524l

Solid earthing is provided for the voltage above 66 kV. False

A.

C.

Alals 2141 66 kV 524l AHIR Alessy HIZ AuIA &9, False

C.

D.

Potential transformers are always connected in parallel. True

A.

C.




¢ | UleHad 2leu sz GHAUL URAEH 67114 9,

A.

C.

9. | Which of the following grounding method is also known as arc suppression

coil grounding?

A. | Resistance grounding B. | Solid grounding

C. | Reactance grounding D. | Peterson coil grounding

. | Alaedlnidl 59 wBlesor ughldd 205 YUud siHa WGl dls vliavia 972

A | Aszea G-l B. | idls ws<ila

C. | duiszx aG-la D. | ulzzad sida wG<Eol

10. | In which of the following method of neutral earthing a resistor is connected

between neutral point and earth?

A. | Resistance earthing Reactance earthing

C. | Solid earthing Peterson coil earthing

10. | <A2d 2l 1Al 58 ughlaui 2x22z 22d Uiz vid 219 929 sxiglig sii 97

A | Aty gl B | Zluisz-u wdlo

C. | Al o D. | Ulzzud s19a il

as arc suppression coil 15 Y- 5194

11. | Generally grounding is provided for

A. | The safety of the equipment B. | The safety of operating
personnel
C. | Both1 &2 D. | None of above
99, | AlMLed d wGEla HIZ BUALHL U4 €9
A. | Osdluniead] 45l B. | 2tuxldel susl-l 452l
C. | 1292069 D. | Guz-l Higl 5195 Al

12. | The neutral of any grounded system will permit the flow of current through




the conductor when unbalanced load is connected.

A. | True B. | False

C.

L2, | OrAIR 2AGARS Al ISR 1A AR SIOUEL ULB[22l [A22HAL 426 578522 2AIRL UAUIR
2l 5324, Hoydl sual.
A. | True B.
C.

13.

When the neutral point of a 3-phase system (e.g. 3-phase generator, 3-
phase transformer etc.) is directly connected to earth (i.e. soil) through a

wire of negligible resistance and reactance, it is called

A. | Resistance grounding B. | Solid grounding

C. | Reactance grounding D. | Peterson coil grounding

13.

OrAIR 3-5% [Ar2HAL A2 UD2 (Eld. 3-55 6y<l222, 3-50 2LeA5IHR A0IR) ot 67 9L
ARz v Aviszey gzl dlAL wA(212d 5 HIZL) A2 s34, 89, AR ded
5GAIML 19, 69,

A | Aszea G-l B. | ldls ws<ila

C. | Auiszx AG-la D. | ulzzad sidd G<Eol

14. | In which of the following system, identification of fault is tedious:
A. | Resistance grounding B. | Solid grounding
C. | Reactance grounding D. | Ungrounding
1%. | The identification of fault is difficult in ungrounded system. True
AUGLS [Rz2HHI sleecdl 2dm 524l Hesa &
A. B.
C. D.
15. | In a ungrounded system, during the fault the protective relays may not able

to operate because of the low fault current.

A. | True B. | False




VU | 24eAIGegs [azanul, slez ealHand uizs2la [2a il siez s224 51200 514 532 259 Al
A. | True B.
C. D.
16. | Which condition is true for Peterson coil grounding method?
A. | XL=Xc B. | XL>Xc
C. | XL<Xc D. | All of above
1o, | dl2zad sidd B0l ugald HI2 56 sélad wiRil 972
A | XL=Xc B. | XL>Xc
C. | XL<Xc D. | All of above
17. | Which of the following is the advantage of protective transformer?
A. | Reduced level of insulation for B. | Value of current in relay coill
relay coil reduces due to CT
C. | Ratings of operating coil of relay | D. | All of above
are standardized
19. | dlaamizdl W2l 21-u51821 5142l 524 897
A. | R 5196 HIZ 2 SeRIAAA 494 | B, | CTell 5101 kA s15aui s3z-il il
B
C. | Radl 2uzzlol sidadl 221881908 | D, | GUeAL dHIH
EEL]
18. | The secondary winding of which of the following transformers is always kept
closed?
A. | Step-up transformer B. | Step-down transformer
C. | Potential transformer Current transformer
V| {lamial su 2ieusiied 452l (el GHa ol AU 209 97

A.

22U DY 2145102

B.

22U 1B, 21leu51H2




C. | 532 2l-u5MR

D. | Wzl 21-usiir

19. | In Peterson coil grounding, inductance L of the coil is related to line to earth
capacitance C as
A. |L=1/3w2C B. |L=1/3wC
C. | L=w/3C L =C /3w?
L | flz24, 5199 WB[aul, s19al Segszey L 2 Al 2 w8 sUHe-u C uld
£alzl oilAd €9,
A. |L=13w2C B. |L=1/3wC
C. | L=w/3C L =C /3w?
20. | Current transformers are always connected in
A. | Parallel B. | Series-parallel
C. | Series D. | None of above
20. | g2 21eU5IAA dHal Hi srlglAdl Sl €9,
A | URda B. |dlkz-yaq
c. | Al D. | Guzl Hidl 51 <Al
21. | Which of the following connection is preferred for PTs?
A. | V-V connection B. | Star - star connection
C. | Star - open delta connection D. | All of above
29| PTs W2 ladimigl 24 sesud uie 5211 697
A |V =V sdsaq B. | %212-2212 559
C. | 2212-9lud el 559 GuURel dHIH
22. | In Peterson coil grounding, the inductance of the coil is variable.
A. | True B. | False
C. D.

22, | dlzzatd 5i6a WGEoi siSadl Sessz Adlsiod Gl 9.

-




A. | True B.
C. D.
23. | Protective transformer works on saturation region of magnetization curve.
A. | True B. | False
C. D.
23. | W22l 2leus1iz Hod216 (00l 53l A2R9A <l2AAHi 513 52 69,
A. | True B.
C. D.
24. | Which of the following is the specification of CT?
A. | Rated primary current B. | Rated burden
C. | Rated transformation ratio D. | All of above
2| lamial £ CT 2u=ilglsad 97
A, | 228 wamil sz B. | 28 0dd
C. | 22¢ 2leusiiad 2l GU2AL dHIH
25. | Which of the following grounding method is also known as effective
grounding?
A. | Resistance grounding B. | Solid grounding
C. | Reactance grounding All of above
2U, | <dlAdlnisl 59 wBlgor ugilaa ©552la UGl dLls UAMAHL 2414 97

A | Az A6l

B.

Al AG-Ela

C. | Auiszey G<Llal

D.

BUl dHIH

CH: 4 Circuit Interrupting Devices

What is the major cause of the failure of the circuit breaker?

A. | Trip circuit open

B. | Trip latch defective

C. | Spring defective

D. | All of above




-

Al52 sds2el sefluzd Yo s1ze0 9 9?

A. | 2ud 2y w82

g5l 2lu @

c. | lssdla wila

BU-L dHIH

Why are the isolators used?

A. | Break abnormal current

Making under fault conditions

C. | Breaking the circuit under no load

condition

None of the above

BUHUIA22AL GUALL SH $2AIHL 29, 97

A | PN 5324 9s s2al

slez séladui srigal

=~

C. | Al dlg sélaqui 4251z as s2a1

GuzAl Higl 516 <6l

RRRV means

A. | Rate of rise of restriking voltage

Rise of rate of receiving voltage

C. | Rise of rate of restriking voltage

Rate of rise of receiving voltage

RRRV-l 249 1A,

A. | 22 25 A5 vls Lrardslol diezsy

A5 2115 22 21ig <A=dldl diezsr

C. | U g 22 2Us Az2195 diezsy

22 wlls 2ADB vlls dldlol diezsy

The isolator is interlocked with circuit breaker and earthing switch. What is the

opeing sequence?: .......ccccuueee.. opens first, then the ............ and only after this

the. v can close.

A. | Isolator, circuit breaker, earthing

switch

Earthing switch, isolator, circuit

breaker

C. | Circuit breaker, earthing switch,

isolator

Circuit breaker, isolator, earthing

switch

-

HUIE22 Ul52 652 21 2r2l[olL 2428l He2zdls 2Aa 9. 2iuR(20l 54 9 972 el

vid 69, uesl 2 211 Yl or

it 2 AS 69




ORI, Uul52 cis2, el 24l

wfor 24|, vuHuIEe, ulse tse

Ulse aise, w1aol 242, susdAIE22

Als2 652, poALA2R, w1l 24l

What is the normal pressure at which the SFe gas is maintained in the closed

position of the breaker?

A.

2 kg / cm?

2.8 kg / cm?

C.

2.5 kg /cm?

3 kg /cmz?

Aszeil it (Ralaui AAQ UAR 524 9 oyl SFe AU oyNAIA €97

A.

2 kg /cm2

B.

2.8 kg / cm2

C.

2.5 kg /cm?

D.

3 kg /cmz?

Which of the following medium is employed for arc extinction in oil circuit breaker?

A.

SFs

B.

Water

C.

Oil

D.

Air

2UHE Ul52 edsH w5 2aal HIZ laamidl 54 WK siid 97

A.

SFs 3)\{%3)\{%6

B.

YLeil

C.

254,

D.

sl

Which of the following circuit breaker is highly reliable and has a least

maintenance?

A.

Oil circuit breakers

Air blast circuit breakers

C.

SFs circuit breakers

Vacuum circuit breakers

-

<flalamigl 54 Al52 asz vior (Al &9 2id dd Headad U940 24189 97

A.

wisd dlsz 6sz

B2 6122 Uls2 cis2

C.

SFe ul52 cis2

B.
D.

qsuH 52 sz

Low resistance method of arc extinction is also known as:

High current method

Low current method




Current zero method

Current infinite method

w15 wia2lsadl Al 2Buzu Hag
OEEERTEN

dl 592 HYg

532 912l WAL

532 HellHlO2 HAL

SEIERV VT REICE

A. B.
C.
¢. | The arc in oil circuit breaker converts oil into:
Fire
Hydrogen gas
SFs Gas
Nitrogen gas
w5 U512 GlsHI w5 S Hi 5492 52 €9,
2119
SLOSIoYd AU
SFe
AUDZIoH LA
A. B.
C. D.
9. | The stability of arc in vacuum depends on
A. | The contact material only. B. | The circuit parameters only.
C. | The contact materials and its D. | Both (b) and (c)
vapour pressure.
¢ | AsaHME 25 z2oildll) Yz [AMz &9
A. | §52 sle2s2 WAlAa ur B. | §52 4=slz vl w2
C. | slezsz HZlZAA w1 Bidl du2 U2 GUR D. | 2 244 3 oid




10. | Circuit breakers usually operate under
A. | Normal condition B. | Faulty condition
C. | BothAand B D. | None of above
q0. | 452 s ML Lld G801 BUUR2 Al 9.
A | ARd sélaq B. | 5l¢l sélad
C. | 12942 06iq D. | Guz-l Hidl 519 Al
11. | Which among these are the main characteristics of a fuse element?
A. | Low melting point B. | High conductivity
C. | Least deterioration due to oxidation | D. | All of the above
14, | S vildH2-dl Yoo arafisdizil 2umidl 59 9?
A. | 2t HeZlol idz B. | wld sssldlZl
C. | 2UslaAL 51200 24189 El2i<lviaq D. | GURel dHIH
12. | HRC fuse is which type of fuse?
A. | Cartridge type B. | Rewirable type
C. | Drop out type D. | Liquid type
12. | HRC &4 541 Usl2ell 4 97
A. | s12zloy 215U B. | daeed 215y
C. | $lu 2uB2 21594 D. | dlsdls 215u
13. | The resistance of an electric arc can be increased by
A. | Increasing the concentration of B. | Reducing the arc length
ionised particles.
C. | Splitting the arc D. | Increasing the arc cross section
13. | Dalszs 25l Axz2 £al2l 94Ul a5l €9,
A. | A0S UIZI5EUAL Sledd204AHI B | zusl doiis) u218lq

AIRL $90




C. | s 2udl2 53l

-

D. | 25l 514 Aso4 ALl

14. | A three phase, 33 kV oil circuit breaker is rated 1200 A, 2000 MVA, 3s. What is its
symmetrical breaking current?
A. | 1200 A B. | 35 kA
C. | 3600 A D. | 104.8 kA
VF. | vis gl 53, 33 KV wlisa U5z sls2q 1200 A, 2000 MVA, 3s £412L 22 54 89, ddl RHlsa
oislol 532 9 997
A. | 1200 A B. | 35 kA
C. | 3600 A 104.8 kKA
15. | What should be the value of fusing factor?
A. | Equal to zero B. | Equal to one
C. | Less than one D. | More than one
LU | 2[R0l 5523 HE 9 Slg, AI51?
A. | 44 or2g B. | ¥is ov2q
C. | 25 53dL 2 D. | ¥i5 52dl 4412
16. | Why is an isolator installed?
A. | To isolate one portion of the circuit | B. | As an substitute for the circuit
from another breaker
C. | BothAandB D. | None
1%, | PUAALE2A 5H Oe221d 52AUHE 24U 97
A | A25l24L 2is L4 ol eoEl sz | g | Aslz alszAl [Asey d<ls
5241
C. | 1292009 D. | Guz-l Higl 519 Al
17. | What is the cut off current in the fuse?

A. | Maximum value actually reached.

B. | Rms value actually reached.

C. | Average value actually reached.

D. | None of the above




19. | Ul 52 vlls 532 9 €97
A. | Hellum aey or vizeiz ugidl 8, B. | Rms &ey, o vizviz udidl .
C. | 24206y A€y 6y WU usidl €9, D. | Gua-l Hidl 519 Al
18. | Which circuit breaker is preferred to be installed in extra high voltage AC system
above 400 kV?
A. | Bulk oil type circuit breaker B. | Air blast circuit breaker
C. | SFe circuit breaker D. | Vacuum circuit breaker
14| s ul52 6ls2 400 KVl a4 215221 €1 diczsy AC [Rz2Hul He22ld 531 s1d 97
A | otes sliod w2l sis2 B | ¥z odiz2 Uzl 6is2
C. | SFsuzsl2 cisz D. E{%H U2z 42
19. | A three phase circuit breaker is rated 2000 MVA, 33 kV. What will be its making
current?
A. | 35 kA B. | 89 kKA
C. [49kA D. | 70 kA
12 | vis gl 524 AR8l2 6lsd 2000 MVA, 33 KV HI2 228 536 89, dll Hslol 522 9 29?
A. | 35 kA B. | 89 kA
C. |49KkA D. [ 70 kA
20. | What is / are the main disadvantage / s of using oil as the quenching medium in
the circuit breakers?
A. | Need periodical replacement. B. | Possibility of causing fire hazards
C. | Risk of formation of explosive All of the above
mixture with air
20. | w5z edszmi sale2a HIAR Azls 2ASal GUALoL 531l Yo 1R5IAE OIRgIAEIAL 9 €97
A | ullaidls eaumezdl syzelaid B. | 2A0LAL orlUAHL ALl A1l
C. | sl g (45125 Maapdl 2414 sivH | D, | GUR<L dHIH




21.

Which of the following circuit breakers has the lowest operating voltage?

A. | SFg circuit breaker B. | Air break circuit breaker

C. | Air blast circuit breaker D. | Minimum oil circuit breaker
2| Aladaminl sa ulEz eisami Al 291 2404350 alessy 97

A. | SFeuliz a2 B. | iz a5 ulsz gse

C. | »iz odizz ulsz ais2 D | Hldlun sida ulsz ois?
22. | Which among these circuit breakers produce the least arc energy?

A. | Plain oil B. | Minimum oil

C. | Air blast D. | SFe

2.

wuHiel 524 w52 G52 2U9IUL U] U 24D Gl 52 697

A. | wdd vlida B. | Hldluu visa

C. | ¥z oaizz D. | SFe
23. | What is the main purpose of oil in oil circuit breakers?

A. | Provide insulation B. | Quenching arc

C. | Provide cooling of contacts D. | None of the above
23, | 2l uliz olsul vUSal HUA 6d 9 97

A. | HeAENA 2AUALAL B. | U5 2ilaqald

C. | slezsed gellor 2Aual D. | Gual Hidl 519 ¢l
24. | Full form of HRC

A. | High resistance capacity B. | High rupturing capacity

C. | High resistance control High rupturing control
24, | HRC #i1v, AIM

A | 619 [z surdlll B. | w1 xwadlol suzdlZl

C. | €1 2[Rz 5214 D. | €18 2o s2ig




25.

What happens in the arc extinction using high resistance method?

A. | Arc resistance is decreased with

time.

B. | Arc resistance is increased with

time

C. | No change it remains same

D. | Arc resistance is kept zero

2U, | S1S 22y WALl BUALL 5L 215 BUAAAIHL 9 Al £97?
A | A 218 U5 Az 82 69 B | dMA e b Aeeu 98 9
C. | 515 oteald Al 31 A4 67 26 & D. | 25 B2 9t AHAML U 8
CH: 5 Protective Systems
1. | Directional time graded over current protection is employed to
A. | Radial system B. | Parallel feeders
C. | Both D. | None
q. | SlMRBUAL 2101 AS AR 532 W25 < BUYAIHL BHY 9,
A | 28l Ry B. | URad gl
C. | 1232007 Buzl Higl 519 Al
2. | The protection system which compares the current entering and leaving the

protection zone:

A. | Differential protection system

Integral protection system

C. | Back protection system

Subtraction protection system

3. UI2s2ld [Az2H of U254 BlHl BUAdL e 412 oYl 5224l detell 52 9.
A, | {gredlag uizsuq [MzeH B. | O<2lad uizsaq [zeu
C. | ols Wizsud [Hzeu D. | "ol2s9 Ui2sae [Hzeu
3. | Buchholz relay is used to protect
A. | Alternator B. | Induction Motors
C. | Transformers D. | Synchronous motors




~~

oi5icza (Rl Gualal A U252 52ALHI2 A1 99,

me22A22 B. | Owisee Hized

c

2leu5IAA D. | dlsiax vz

o>

Non-directional time graded over current protection is not employed to

A. | Radial system B. | Interconnected System
C. | Both D. | None

AA-SLARSAAG 2IOH ALS DHAR 532 UI25U, Hi AuR1d, <l

A | 28l Ry B | Or2rsds2s [zeu

C. | 1232007 D. | Guz-L nidl 519 Al

The under-voltage relay is recommended for

A. | Transformers B. | Feeder

C. | Motors D. | Busbars

vige-dlezsy 24 HIZ Azl asld €.

A. | Z-ugid B. | 4l

C. | Hizd D. | cuolz

Buchholz relay is a relay which is used for protection of
A. | Gas actuated, transformers B. | Gas actuated, motors
C. | Gas actuated, generators D. | Digital, alternator
oisieza R4 (& 9 sy<ll GualoL AL UL258A HI2 A 99,
A. | Y 2sAZE, 21eA51HR B. | A& #5222, HicY

C. | A 252228, sr22d D. | {lwead, viezzdz

The equipment which has lowest chances of fault occurrence:

A. | Transformer B. | Generator

C. | Motor D. | Switchgear




Hsdluez 5 orHi glez Adldl Adiadl 2l 9: 6

a. 2]
A | 21452 B | sy-e2z
C. | "2z D. | zel2oiluz
8. | The loss of excitation in a generator is classified as
A. | Mechanical fault B. | Electrical fault
C. | Magnetic fault D. | None
¢ | opz2RMl BASADZAAAL ALY B d<ls Qoilsd A €.
A. | Hlslsa sie2 B. | Yasilsd sie2
C. | Hodlls sle2 D. | Guz-l wigl 515 <l
9. | Most unit protection schemes are based on
A. | Merz-Price principle B. | Combinational Buchholz relay
system
C. | Induction principle D. | None of these
¢ | Htldl 3<dlz wizsad 25l Y2 BUHIELA £9.
A | Hot-wde vlzilua B. | 5-0ll5=s oisic2 Ra [z
C. | Sessud ulzdilua D. | Guzl gl 519 ¢l
10. | Merz-price protection system is also known as system.
A. | Biased Differential protection B. | Distance protection
C. | Impedance protection D. | All of above
Q0. | HO-UID UIzse [Azey [Raz2H Adls waL sllav €.
A, | ot dgedlia nizsad B. | leau ulzsud
C. | O¥ulseu nizsue D. | GUz-l dHIH
11. | Pilot wires are used for type of line protection system.

A. | Time graded

B. | Circulating current




C. | Current graded D. | Voltage graded
19, | WSE2 AL GUALdL Us1zeAL 215U Al UZsu (4224 HI2 2412 6.

A, | 2154 AL B. | usiazlo sz

C. | 532 A8 D. | dlezor Ass
12. | A differential relay measures the vector difference between

A. | Two current B. | Two voltage

C. | Two similar quantities D. | Any of the above
12. | dsr-ilag ke Q2L 4522 {5 HRAr 52 99,

A | olsi2 B | o dlc2sy

C. | ol Axvl saiZlél D. | Guzdidl 516 el
13. | A transmission line is protected by

A. | Time graded and current graded B. | Distance Protection

over current protection

C. | Both 1and 2 D. | None of the above
13. | 2ledMad dld £aIRL UI252 U1A 89,

A | 215 ALs B BlIAR 532 UIZsUA B | {luzeu uizsau-

C. | 1232007 Bzl Higl 519 Al
14. | Large internal faults are protected by

A. | Merz price percentage differential B. | Mho and ohm relays

protection
C. | Horn gaps and temperature relays | D. | Earth fault and positive sequence
relays

1. | Wizl He22d slez Azl UI2528 9.

A. | HE-UIS uR2or dlsedlad uizsaq B. | Mho »14 ohm R4

~ ~

C. | 8l AY 2 2¥uza 24

29, 51e2 vid UiRflAla lsaen (e




15.

Which of the following is unit type line/feeder protection scheme?

A. | Circulating current system B. | Directional type time graded
protection
C. | Distance protection D. | Non-directional type over current

protection

WU | a2 215y e / 5162 Uizsua 2514, dlaumisl 59 97?
A. | 4sAazl siz [zeH B. | $lM35% 215U 2159H A3 UL2sAA
C. | duzed hizsuq D. | Ald-3l425904d 215U 2UAR 522 U5
16. | For which of the following protection from negative sequence currents is provided?
A. | Generators B. | Motors
C. | Transmission line D. | Transformers
1e. | qladmidl sid A921a 2dlsaa 522 AN U254 BIUAHL 29 97
A | ordzeA B | HizA
C. | 2leuMad als D. | 2l-usldd
17. | A Buchholz relay is used for the protection of a transformer against all internal
faults.
True
19. | 04516208 RAAL GUALL 08l He2Ad 51624, AUIH 21-A5IHAL U254 HI2 21 69,
A. B.
C. D.
18. | Which of the following protection system is used for the bus-bars?

A.

Frame leakage protection

B.

Circulating current protection

C.

Both

None




VLo | =012 HIZ <ALl 55 UI2sae [R12HeAL GUARL Al 97
A. | 34 dlsor Uizsaq B. | 4@zl 522 nizsu-
C. | 1232 0iq D. | Buz-l Hidl 515 <l
19. | The following statement is associated with the Buchholz relay is not true
A. | Itis a gas actuated device B. | Itis a current operative device
C. | Itis placed between the transformer | D. | It causes alarm for minor fault and
tank and the conservator tripping for major fault
ez, | <l2 viug aistimiEl s opsiczo RA A2 dsndd 9 d w12 <l
A | A9l BUZ2S S 9. B. | 4532 2zl lasu €.
C. | A 2145192 25 2 seud2adl a2 459 | D | d <lledl 5162 HI2 2 U0 &9 1 Hi2L
Sl 89, slez HI2 Zlu a1 89,
20. | Which of the following faults may occur on an alternator?
A. | Failure of prime-mover B. | Over speed
C. | Unbalanced loading D. | All of above
20, | {lAmisl a1 slezy wezrdzr uz ad U5 97
A. | WOH Hard 5elli2 B. | 2z 2dlg
C. | vacds didla BURAL dHIH,
21. | Unbalancing of an alternator may occur due to
A. | unbalanced loading B. | single phase fault
C. | line breaking D. | all of the mentioned
2. | w22z il <AL 51201 212 €9,
A | 2idoldezs dldlol B. | dld 52 slez
C. | dlo- aisla D. | GU2l dHIu
22. | A single phasing relay can be used with
A. | Single phase motor B. | Two phase motor

C. | Three phase motor

All of above




22, | g 5ol R4 SIREICEIRIETON
A. | e 5o Hizz B. | 2 5% Hi2?
C. | 4l 5 Hiz GURAl dHIH
23. | For motor protection, which relay is used?
A. | Thermocouple type relays B. | Bimetallic relays
C. | Electronic relays All of these
23. | Hiz2 W25 HIZ (2a quz1x 97
A | 4Hisud 219y ke B | clamzilas Ra
C. | Sdszi-ls ke D. | GUz-dl dHIM
24. | More faults occur in
A. | Generators B. | Over head lines
C. | Underground cables Transformers
2. | qHIR 512y Hi g6,
A | orzeA B | 2268 Al
C. | 212 UG- 5016 D. | 2145183
25. | Generator internal fault protection is usually based the principle of
A. | Differential protection B. | Cross-differential protection
C. | Negative sequence protection D. | All of these
2, | 6922 Hez2dd slez Ui2sUeA AHIA Zd AL [Ag4id uz sUHLd €9,
A. | il wizsaq B. | slu- ls2ilad wizsaq

C. | AdZla wlshx wizsaue

BGUl AHIH

CH: 6 Over voltage Protection

A protective device, which reduces the steepness of wave front of a surge by




absorbing surge energy is called surge absorber. True

< o~ ~ ~

25 UI2s2la ElAY, of Usy i 2Nl ddl Usy<ll A9 gea<dl 22U 4218 8 dd Asy oAl
5GAIML U9 69,

A. B.

C. D.

The insulation level of protective device should be lower than system equipment.
UIzs2la ElAdud Sexndaqd dad [MzeH Ssdlunez 53d1 vl €ld o,

A. | True B. | False

~ =~ =~

UIzs2la ElAdu Sexydaqd dad [zzH Ssdlunez 53d1 2l €l o,

> >

A. B.

C. D.

Which of the following devices will receive voltage surge first travelling on the

transmission line?

A. | Step-down transformer B. Relays

C. | Lightning arresters D. | Switchgear

AlRamiEl 524 dadu 2ieuMad aldadl ugal 21adloidl diezsy usy HAA9?

A. | 22u-2Y 21eu51R B | ka

C. | drzdlo vz D. | 2dlaoilaz

What is the full form of BIL?

A. | Basic Inductor Level B. | Blue Insulation Level

C. | Basic Insulation Level D. | Basic Insulation Light

BIL 2410 1M, 9 £97?

A. | o35 Seis22 dad B. | o4 H24Qu-d dad




C. | Ales He24dud dad D. | G5 He24quqd dlde

Making suitable co-ordination of the capability of the equipment of withstanding the

impulse voltage and the protection characteristics of surge arresters is called

A. | Insulation failure B. | Insulation co-ordination

C. | Lighting stroke D. | Basic insulation level

Hree, dlezore dlazecs s2dl Hsaun el sUoildli] 21q usy vzl Uizsa @lelbisdlsil 422

53AIHL BUAAL 2194 UHAU A SGAHL 219, 9.
A. | Sedad sdlaz B. | H-xada silda
C. | az-lo z2is D. | G5 D244 dad

Over voltage may be due to

A. | Lightning impulse waveform B. | 50 Hz a.c.
C. | Peak value of 50 Hz a.c. D. | All of these
vilaRqlezsy AL 5126 SA 99

A. | arzlo Srien das14 B. | 50 Hz »i.4l.
C. | 50 Hz ai.x.l ls aey D. | GU2-l dHId

A lightning arrester connected between the line and earth in a power system

A. | Protects the terminal equipment B. | Protects the terminal equipment
against travelling surges against lightning strokes

C. | Suppresses the high frequency D. | Reflects back the travelling waves
oscillations in the line approaching it

Yla2 [Az2uui Al vid 218 429 syl dlsz(ol 12 5269,

A. | z1dd usy UM 2 Ssdluez B. | dz<lol 2215 UM 2 Ssdluezq
Ules2 52 89 Ules2 52 89

C. | AHl 2ladL 616 glsddl vifadaad | p. | dul 2iadl ziadlal deudl s34l <lsasz
AU 529 524




The most severe surges on the line are produced by lightning.

A. | True B. | False
C. D.
¢ | AUSAHE @z<lor gauRlL el ab, HAN AsY UMA 19,
A. B.
C. D.
9. | The angle of protection of transmission tower is about
A. | 700 B. | 50°
C. | 300 D. | 1000
¢ | 21dlad ziardl o vig Ui2sud 2R SlA &9
A. | 700 B. | 50°
C. | 300 D. | 1000
10. | The lighting arrester is conducted
A. | in series with the line B. | between line and earth
C. | to a pole near the line D. | to circuit breaker
q0. | dlzlol »12z22 923 £352 Al 9.
A | Al 2dlzui B. | Al vid widl 423
C. | Al A5 did WA D. | 425l alszui
11. | A surge diverter should be located near to the apparatus to be protected.
A. | True B. | False
C. D.
99, | ASY 4422 6F BluleUd UI252 539U 9 A<l 425 slg syl
A. B.
C. D.




12.

The earthing screen is made of

A. | Gl wire B. | Copper

C. | Both1 &2 D. | None of above
12, | vElol 25l il orddl 9.

A. | Gl Az B. | 5w

C. | 123207 D. | Guz-l Hidl 519 <l
13. | The protection against direct lightning stroke is given by

A. | Earthing screen B. | Ground wire

C.|Both1&2 D. | None of above
13. | sz dlz<dlol 22154l ai AL U259 DUUALHL U4 9,

A | il 2514 B. | UG~ A2

C. | 1292067 D. | Guz-l Hidl 519 Al
14. | In voltage surge waveform, the time period during which the value of voltage

reaches to peak value is called

A. | Rise time B. | Tail time

C. | Overall time D. | Rest time

VY. | dle2oy Asy AASIAHL, 0 UHAALL 22(MA1 dle2oy< Het dls Hert YAl usial 9 d-
SGAML U9 €9,
A | A 21du B. | 294 21554
C. | vazlid 2154 D. | 2 2154
15. | In voltage surge waveform, the time period during which the value of voltage

becomes half of the peak value is known as

A. | Rise time B. | Tail time

C. | Overall time D. | Rest time

u.

~ ~ ~

le26y Usy AA5IHHI, 6 UHAUNL 2(RALA dle2sy< Hed vls yerdl 185 a5 M &9, 4

[N

Azls v, 69,




A | 2508 2104 B. | 294 2154

C. | wliazaild 215y D. | ®2 2154

16. | If the surge is indicated by 3/70 us that means the rise time of voltage is
us and tail time is Us.
A. 70,3 B. 3,35
C.|3,70 D. | 35,70
LS. | oyl sy 3/70 us ARl UAAAHL B9 69, oyl il €9 5 Aleoyell AHA 2154 us
el 89 21 299 2194 us €.
A 70,3 B. 3,35
C.|3,70 D. | 35,70
17. | Which of the following is advantage of horn gap type arrester?
A. | Horns can get shorted and B. | Operating time is about 3 seconds
damaged
C. | Arc quenches of its own D. | All of above

19. | Gl Y 215U wiRz22L 5142l AlAAHizl g £97?
A. | Gl 22 AP A 19 Bl SHoy Ul B. | 2iluzelol 2154 21192 3 HAsegd
C. | 25 2UUHA QA 9 D. | GU2l dHIH
18. | The increase of voltage for a very short time in power system is called
A. | Under voltage B. | Voltage surge
C. | Normal voltage D. | All of above
L | 19z [A22HHL VoL 6 2A9L UHA HI2 dle2sy dAHIRAlA EREICTET IR
A | wise diezoy B. | dlezsy usy
C. | ¥4 diezsy D. | GU-L dHIH
19. | Overvoltage due to voltage surge may cause

A. | Damage to equipments B. | Insulation failure




C. | Flash over occurs to insulators

D. | All of above

~ = S

Uz, | Ale26y AUSY-ll 51201 242 125y <i, 51201 1<l 915 €9,

A. | Ssdlusiead 4sauq B. | H4du- seluz

|| $21d22 uR Ud 549 AR D. | BUel dHIH

20. | Voltage surge comes for

A. | Few microseconds B. | Few seconds

C. | Few minutes D. | About 10 minutes
20. | diezsy Usy HIZ B 69,

A, | HS HIOSL s B. | ¥tHs Usgy

| 2 Hleilzy D. | 2122 10 Hl-ilzu

21. | Over voltage is occurred due to

A. | External causes B. | Internal causes

C.|Both1&2 D. | None of above
2. | 292 diesy <AL 51200 24,

A. | 2lE2qd siell B. | H-2rd 5120l

C. | 1292007 D. | Gual Hidl 519 ¢l
22. | The external cause of over voltage is

A. | Switching surge B. | Lightning in sky

C. | Fault in system D. | Sudden increase in load
22. | 4R dle2oy< slaedd 5120, 8.

A | 2dlailol usy B. | zustami dlsyoil

C. | Rzzuui sie2 D. | @il 24215 A4Iz1
23. | Which of the following is not the internal cause of over voltage?

A. | Switching surge

B. | Lightning in sky

C. | Fault in system

D. | Sudden increase in load




2.3. | AlA1 Hidl 54 292 dic2oy He2zdd 51200 42l
A | 2ol dsy B | zustami dlsyuil
C. | Rzzuui sie2 D. | dlsell 2415 94131
24. | Which of the following is the reason of increase in voltage in power system?
A. | Power frequency over voltage B. | Lightning over voltage
C. | Switching over voltage D. | All of above
2%, | <AlAL Hidl 54 ulaz [A2Hul die2oy-dl 99IRl 51201 97
A. | WAz glsddl ez dlezsy B | dlrz-l-l vz diczsy
c. | zdl=ilo w19z diezsy D. | GUaAL dHIH
25. | The standard wave shape of voltage surge is
A. | Parabola B. | Flat
C. | Steep D. | All of above
21y, | Alezsy Usy 2218 44 AU £,
A | uzlolal B. | 542
BRI D. | GU2l dHIH




